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6.3

A B

6. 2

C=A+B

A A
O A B
C
A C
B
6.2
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(6. 1)



-A

A+(-A)=A-A=0

@)
6.4
A A
A
A+A=2A
n
A A n
A A
S n
A=ns
n A
Al A
A=|Als=As
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nA

(6.2)

(6.3)

nA

(6. 4)

(6.5)



6.5

6.3

Bx = Bcos(B, X)
By =Bcos(B,Y)

I ]
Bx

B Byi,B,j

B|=B= /BZ+B2

XY
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(6.6)

(6.7)



(BY)
it (B.X)

Y

6.3

A=Ad+Ajj+Ak (6.8)
Ay =Acos(A,X)
Ay =Acos(A,y)
A; =Acos(A,2)
L], K X,Y,Z
A Ay A, X,Y,Z

ij, K
(6.5)

s A
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A AXi1ij1AZk

A
IAlI=A= A2 +AZ+A? (6. 10)
6.6
(6.8)
r
F=ryi+ryj+ 1.k (6.11)
(rX1 ry, rZ)
x¥,2)
r
r
6.7
(6.8)
= (Ax+By)i+(Ay +By)] + (A; +B,)k (6.12)
= (Ax—By)i+ (A, —By)j + (A, — B,k (6.13)
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A+B+C+D...

6.8

A B

AB cos(A, B)

A-B =ABCcos(A,B)

6.4

A-B=0Px0Q

-01-

(6. 14)

(6. 15)



(AB)
0 Bcos(AB) PA “Q

6.4
A-B=B-A (6. 16)
A-(B+C)=A-B+A-C (6.17)
A-A=AACoSO=A2 (6.18)

A-A A? A B
cos5 =0

A-B=0 (6.19)
i-i=j-j=k-k=1 (6. 20)
i-j=j-k=k-i=0 (6.21)
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(6.8) A=Asi+A)j+Ak

A u
A-u A U A X
Ax
A =A-i (6.22)
(6.8)
A=A-Di+A-)Dj+A-Kkk (6.23)
A B

A-B = (Axi+Ayj+AK) - (Bxi+Byj+B,k)
= ABxi - i1+ AByi-j+AB;i - K
+AyByj - 1+AByj - J+AyB;j -k
+A.Bxk -1+ A;Byk-j+A;Bk-k

A-B=AB,+AB,+A,B, (6.24)
(6.22)
A-B=(A-)B-i)+A-HB-])+A-K®B-K (6. 25)

6.9
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A.B A,B

A B
A,B
AxB (6. 26)
A B
AxB
AxB
|AxB|=ABsin(A,B) (6.27)
A
Ax B
B
A >
6.5
AxB=-BxA (6.28)
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Ax(B+C)=AxB+AxC
(A+B)xC=AxC+BxC

AxB=0 A,B
AxA=0
|AxB|=AB A,B

Ixi=]jx]j=kxk=0
IxXj=Kjxk=1,kxi=]

Ax B = (Axi +Ayj + A;K) X (Bxi + Byj + B;K)

= AxBxi X1+ AByi X ]+ AB;i xk

+AyByx) X1+ AyByj xj+AyB;j xkK

+A;Bxk x1+A;Bykxj+A;Bkxk
AxB=(AyB,—A;By)i+(A;Bx—AB,)j+ (AxBy — AyBy)K
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(6. 29)
(6. 30)

(6.31)
(6.32)
(6.33)

(6. 34)
(6. 35)

(6. 36)



6. 10

A,B,C
AB-C) A
B-C AB xC)
A BxC
A,B,C AAGALA),
B(By,By,B;), C(Cy,Cy,C,)
A-BxC)=B:-(CxA)=C.(AxB) (6.37)
A-(AxB)=(AxA)-B=0 (6.38)
A-BxA)=-A-(AxB)=0 (6.39)
Ax(BxC)=(A-C)B-(A-B)C (6. 40)
(AxB)yxC=(A-C)B-(B-C)A (6.41)
6.11
(1)
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(2)

A-X=k (A+0)
X

= /"S+C><A

A-(+CxA) =k
SA-A+A-(CxA) =k
A-A=A2A-(CxA)=0
%A2+O=k

=& +CxA

AxX=B (A=0)
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(6.42)

(6. 43)

(6. 44)

A-B=0

(6. 45)



Ax(Z£+cA)=B
ACN L cAXA=B
Ax(BxA)=(A-AB-(A-B)A
Ax(BxA)=A?B AxA=0
AL 0=-B

X =L +cA

- 08-

A-B=0



